Algebra 1A - Mr. Cantlin - *Solve on looseleaf, put graphs hereName

Quarter 4 Homework 1 - Worksheet 6-4 Date Period

Solve each compound inequality and graph its solution.

ES—] 2)yn+l<-Torn+3>3
S Attt

-2 -1 -8 -6 -4 2 0 2 4

1) 6p>—-6o0r

-10 -8 -6 -4 -2 0 2 4

3) -30 <—-6x <30 m m
4) —<-lor—>0 ~
6 5
-6 -5 -4 -3 -2-10 1 2 3 4 5 6 7 8
Attt
-9 8 -7-6 5-4-3-2-101 2 3 4 5
r 6) 3<n+3<10
5)r+6§6and72—1
9 8-7-6-5-4-3-2-10 1 23 456 78
Attt >
-4 8 -7 -6 -5 -4 -3 -2 -1 0 1 2
7) 6x>00rx—-9<-10 8 h—3<-60rb+2>3
—AH—t——tt—+—t+—+—++> >
—4 -3 -2 -1 0 1 2 3 4 5 -6 -5 4 -3 -2 -1 0 1 2 3 4 5 6
9) 8<—2+2v<16 10) -7x-4>-53and2-9x>2
<t > “—+——t—+—+—+—+—+—+—>
2 3 4 5 6 7 8 9 10 11 12 -1 0 1 2 3 4 5 6 7 8
1) 11 <2a-1<19 12) 10x+5<150r3 —-2x<-5
“—“H—tt—+——+—+—+—+—+> “——+——t—+——+——F—+—+——+—+>
4 5 6 7 8 9 10 11 12 -2 -1 0 1 2 3 4 A} 6 7
13) -18 <9+9p <45 14) 2+5k<7or-7k+1<-55
—4—t+t+—++—+—+—+—++> At
-4 -3 -2 -1 0 1 2 3 4 s 2 -1 0 1 2 3 4 5 6 7 8 9 101
15) Sn+3<-2and3n+8 <-7 16) -5<-2x-9<-1



